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6.6 FQUATIONS REVIEW (TYPES I - IT - III- IV - RATIO)

A. Solve the following.

B —7 &
1.3x+6=8x -9 2.7=3 }(zzfi
Y\”} x 4
4. x+9=3 5.x16= 12 +x
x=-r 3 4 =\
7. 4(x -3) =3(x +5) 8.4(x +-.6) =3(7x - 2)
yv;"l’ 5 X:C;Vi/mll
10. 6x = 4x 1. x+3=7
2 5 X=0 6 Y=o
13. 4x-9=-13 14.07x-1=02x+ 4
*=i - =g v
16. 3x=9 . ¢ 17. x =3 =x , XV
4 1o x=" 7 5 =k
9. Y, x+Y,x=5 20. 02x+ 0.3 = 1.4
X =y x>~V -85
22. 2 = 3 v 38, Be= 1 :
1 -x 1-2x x=-| w16 X=
25. x -8 =2 260 8x +3 =7x - 10
TX=T0 ¥z=3
28. ITx +8 = 20 29, 3= -2
Yo uf X 5-x
B. Solve the followmg ¥z &
1. x =08 2. Bx =12
4. 0.7x = 6x 5.34+6=35 .1
37 X=D 2 4 XY= g
7. 9y -9 =9 8. 6x =5x +2
=0 . 3 -4 _X:ra\
10. 4x -9 = 1.2 11. 0.8 +5 =7
¥Y=2.99 0 X~ %
I3.7x -6x+8x =24 14, 8k -3 = -8x -3
X 24 ¥ =0
16. x -9 =2 17. Yyx + Ysx =1,
7 y=tly x= ey
19. 4x =3x - 5 20. 7(x -3) = 2(5x - 8)
3 2 x=15 7(1"3]3
22 Tex=Y,x+3 23. 5x +2 =
)(';é ¥ =
25. 2(0.6x + 5) = 10.12  26. 3/4x=200
x=VYo x= 893
28. 3x + 8 = 24 29. 6x + 8x —dx = 10
. — 32 -
x> "%

27.

30.

.3 (16x -20) =

.5k -3 =12

X="5-

3 x+3**1/2x+7

Y=o,

. 0.8(3x + 10) = 4(x - 4)

X =5

C4x + 6x = 10

X = |

.‘ 6x+4x+6—5x+14

/._

. 3x+2x 4X—i—5x=20

- 0/
S -2y %
) x— -=3 o
Tx+1D 4 .X’ |
- 2(3x - 10) = 5(x + 9)
K=
Hex-5=Y,x+7
X =~ 4q
-6(x +2) = 6(x + 2)
r=0

C2.1x4+5) =7 —

x=-1lb
- 3(2x + 10) = 202x - 10)
L= ~-25
84x -3 ~28x + 1) y= &
2 6 Ho
A B Y w Wy m =T
xz\
Bx =7 v
2 8 K= /|Z

. IX -3 =5x+2

X =2.9
2 (10x + 25)
¥ = G0 ol

Cgx+2=Y x -8

Yo o |

. 05x+12= O3x+24

x=.

. 3(1.5% ~ 0.6) = 2(x -0.5)

R= 0%




